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Organizational decision-making is formally defined as the process of identifying and

solving problems.
L g CdISall pant LA (e aly Al Alaad) 400 Gany o cilaiial) B ) i) ada,

The process has two major stages.
Gt ) (il ga () Aglanl) 038 awdtls,

1) In the problem identification stage,
AUial) paas A ja A

2) The problem solution stage.
Uial) Ja Ua e,

Organizational decisions vary in complexity and can be categorized as programmed or

non-programmed.
Aaa i s ) Aaa e @l ) B ) Lghiaal (San g L alia (g s (8 ApandaTil) il ) B £ od5,

1) Programmed decisions are repetitive and well-defined, and procedures exist for
resolving the problem.
Aiall Jad dauda) g cilpl ja) g9 el JS Badna g By Sia Cil IR o4 daa gaal) il )i,

2) Non-programmed decisions are novel and poorly defined, and no procedure exists

for solving the problem.
il Jad Badsa i) o) aagi Y g c%MSJJ&J@JBQJ@QU\}@@M\J& <l iR,

Individual Decision-Making
dua Al cl ) al s

Individual decision-making by managers can be described in two ways.
sy oy Cpa satall S8 (ha A A1) <)) RN MAS) Gl g (S,

1) Firstis the rational approach, which suggests how managers should try to make
decisions.
a1 AN A ¢ g pdall L Jgban O uag (AN RS L) i 3 (AN gl A S,

2) Second is the bounded rationality perspective, which describes how decisions
actually have to be made under severe time and resource constraints.
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The rational approach is an ideal managers may work towards but never reach.



4l da 5 (Problem Identification) AdSdall a1 G ) Gl yo () Lpapnadl oy 3Meall il il shad
(Problem Solution)

dlsdial) yasi Als 4a (Problem Identification):

1. Monitor the Decision Environment

DAY Ay 480 5

S8 LAY dala @l cuilS 13) Lo sl dga LAl dulalall gl Julas,
2. Define the Decision Problem

DAY ACsa paas

Aallee ) g i) A @l ) A8 el 5 Cay g,
3. Specify Decision Objectives

DAY Gl aass

VA Al O3A (e Lgiias iy S Cilaa ) aass,
4. Diagnose the Problem

"4 SS % ” “~ fow
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d<dial) Ja sy (Problem Solution):

5. Develop Alternative Solutions
ALy Jsla g ghat
ACEA) dallaal 3aaxie Jsla g il Jla & 58I,
6. Evaluate Alternatives
Jilaal) s
) 5all 5 A Jia Boasa julaa e 2l Aalial) Jlad) &5 s,
7. Choose the Best Alternative
Juad¥) ad) jLas)
il e 2l cant) LAl sass
8. Implement the Chosen Alternative
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Bounded Rationality Perspective
53 ganal) AuiMEal) ) glaia

The point of the rational approach is that managers should try to use systematic
procedures to arrive at good decisions.
Bass 18 ) e sll diaga e ) ) aladiad ¢ g pdall Jglag O 9b (DUind) gl (1 ciagd),

When organizations are facing little competition and are dealing with well-understood
issues, managers generally use rational procedures to make decisions.
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Yet research into managerial decision-making shows that managers often are unable to
follow an ideal procedure.
PR LPRLATY N gl e o8 8 WIS oy paal) o I AN ada Jsa clagly) jedas (lld &4,

Many decisions must be made very quickly.
B aS A8 oy il I AY (ha dyand) MAT) g,

Time pressure, a large number of internal and external factors affecting a decision, and the
ill-defined nature of many problems make systematic analysis virtually impossible.
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Managers have only so much time and mental capacity and, hence, cannot evaluate every
goal, problem, and alternative.
Gody o) AdSia o Cioh (IS al pgiSay ¥ Ml g cAlind) 508 g o gl) (ha d gina B agaal (g paaall,

The attempt to be rational is bounded (limited) by the enormous complexity of many
problems.
CSiall Cpa el Jilgd) Aatl) s B gdaa (5 oSS LiDES (4 9<5 off Ad glaa,

There is a limit to how rational managers can be.
Gaatall Wgal) Jeas ¢ Sy (A ApidiEall aa Gllia,

For example, an executive in a hurry may have a choice of 50 ties on a rack but will take
the first or second one that matches his suit.
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The executive doesn’t carefully weigh all 50 alternatives because the short amount of time
and the large number of plausible alternatives would be overwhelming.
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The manager simply selects the first tie that solves the problem and moves on to the next
task.
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Constraints and Trade-offs
1. 4yl 3 5480 (Constraints):

« Bounded Rationality (33l 4:Méal):
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« Personal Constraints (duaiill 3 sal):
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« Organizational Constraints (dsedaiil 3 g:8l):
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2. Decision/Choice (JL3aY)/ ) _al):
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EXHIBIT 13.3 Constraints and Trade-offs during Non-programmed Decision-Making

Bounded Rationality:
Limited time, information,
resources to deal

with compler, S oot S

multidimensional issues
Personal Constraints:

Personal desire for prestige, n&f ;?:::'_'I
Trade-off success; personal decision style; ek fo.r 3
’ and the desire to Trade-off

high-quality

: satisfy emotional i
: needs, cope with pressure, a;jtz%s;?ilv;e
¢ maintain self-concept
Organizational Constraints:
Level of: agreement, Trade-off
shared perspective,

cooperation or support;
corporate culture and
structure, ethical values

Source: Adapted from Irving L. Janis, Crucial Decisions (New York: Free Press, 1989); and A.L. George, Presidential Decision Making in Foreign Policy:
The Effective Use of Information and Advice (Boulder, CO: Westview Press, 1980).



The processes by which decisions are made in organizations are influenced by a number of factors,
particularly the organization’s own internal structures and the degree of stability or instability of the
external environment.
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Management Science Approach
SJM:‘)J gAM\ @Gﬂ‘

The management science approach to organizational decision-making is the analogue to the
rational approach by individual managers.
O A g pdal) dadiioy o2l DlEal) gl | Julai Apanatit) <) ) AN JAS) A B I alad) gl JS,

Management science came into being during the Second World War.
AU dpallad) Al SR B0y ale jgds,

At that time, mathematical and statistical techniques were applied to urgent, large-scale
military problems that were beyond the ability of individual decision-makers.
a3 b gl cills ¢ glail) 5 S g Adale 4y Sus OIS o dpilan) g dpdaly ) il gaadat a5 i gl D b
O AN ) A,

Consider the problem of a battleship trying to sink an enemy ship several miles away.
Jial Bae aay o gae Db (318 Jglad A pa A ASia B S8,

The calculation for aiming the battleship’s guns should consider distance, wind speed, shell
size, speed and direction of both ships, pitch and roll of the firing ship and curvature of the
earth.
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Management science is an excellent device for organizational decision-making when
problems are analyzable and when the variables can be identified and measured.

b g paat (Say Ladie g Jalaill AL cCEA) ¢ oS5 Ladie dpaadiiil) <l ) A1 JASY 5 jliaa 3131 3 1aY) ale Jdy
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Carnegie Model
S s

Research by the Carnegie group indicated that organization-level decisions involved many
managers and that a final choice was based on a coalition among those managers.
M@W‘J‘Jﬂ‘ob c&#éﬂ\d}ddﬁéﬂ\dﬁﬁh&\ djﬁauuiﬁﬁbbﬂ\oig*})ls;\sw&hgiﬁﬂi
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A coalition is an alliance among several managers who agree about organizational goals
and problem priorities.
COC ) iy ol 5l g Aalaial) Cilaa o ¢ gl Gl G i) (e 338 (s CAllAT g DY),

It could include managers from line departments, staff specialists and even external
groups, such as powerful customers, bankers or union representatives.

‘W‘ GM\JL%QJIAQLGWU:\AJ ‘M‘&JQC}AMJ ‘w\emy‘w&#M&SMﬁ
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Management coalitions are needed during decision-making for two reasons.
Crmmead 4 513) M) ) <l ) A MAS) dles rliad,

1) First, organizational goals are often ambiguous, and operative goals of departments

are often inconsistent. )
Yl e S A Al 8 el aludY) il 0 9Si g Audaale LI Apandaidl Claal) ¢ 9 Y ),

When goals are ambiguous and inconsistent, managers will naturally tend to disagree
about problem priorities.
COSEAl il gl gl Joa G mdall Clidy o asdall Cpad (dluiia y& g Laale CilaaY) (oSt Lasic

They must bargain about problems and build a coalition around the question of which

problems to solve.
Lol g (A cblial) Allsa g D) £y g Sl ol (ol Uil agale cany.

2) The second reason for coalitions is that individual managers intend to be rational
but function with human cognitive limitations and other constraints, as described
earlier.

4 e 393 pana () sl agdS (Aidling Ci sl ¢y ga Fing G ) Cp pal) 0 g CHBMEBT AU Cusad)
Bl A g o LaS (s AT 3989 Ay,

Managers do not have the time, resources or mental capacity to identify all dimensions and

to process all information relevant to a decision.
La ik Adal) cld cila glaall aoran Aadlaa g dla) aran yyaail ABal) 5 a8l gl 3 ) gal) gf < gl) ()5 juaal) elling Y.

These limitations lead to deliberative, coalition-building behaviour.
M el ) gy Aali & glar ) 3080 038 5255,



Managers talk to each other and exchange points of view to gather information and reduce
ambiguity.
A gard) Sl g cila glaal) gand SR Cilga g el g () agudns aa (g tall Giaady,

Building a coalition will lead to a decision that is supported by interested parties.
Fiaal) Gl Y das i ) 8 L) Juagil) e DY) el do by,

Problemistic search means managers look around in the immediate environment for a

solution to quickly resolve a problem.
Aoy Adia Jal Ja 0o B pdlall Adasaall i) & ¢ giay G petall O NSEAY Sl iy,

The process of coalition formation has several implications for organizational decision

behaviour.
Aagdatil) e i Al MAS) & glu o el il Sas Lgd GO (0 oS5 Al

1) First, decisions are made to satisfice rather than to optimize problem solutions.
& Jgla aead cpe Yy (e Ja aliadt <l ) &N MRS aly Y g,

2) Second, managers are concerned with immediate problems and short-run solutions.
JaV) 8 mad Jglall g 4y ) gl cMSally (g sl algy (GG,

3) Third, discussion and bargaining are especially important in the problem

identification stage of decision-making. )
AN A ddae (e AdSial) ppaa Alda ja (B Auald dpan cild cila glusall g b8l ¢ o (LI



EXHIBIT 13.4 Choice Processes in the Carnegie Model

Information is limited Hold joint discussion and m

Managers have many interpret goals and

constraints problems ‘ Conduct a simple, local search
Share opinions Use established procedures if
Establish problem priorities appropriate

m Obtain social support for Create a solution if needed
Managers have ‘ problem, solution
diverse goals, opinions,

values, experience

Satisficing Decision Behaviour

Adopt the first alternative that is
acceptable to the coalition

Exhibit 13.4: Choice Processes in the Carnegie Model
S Fagad 2 LAY cliles :13.4 84
1. u@s<tll (Uncertainty):

Information is limited
54 gdaa il glaall

Managers have many constraints
3581 Ga ad) ¢ g4l 92 G gl

2. &l rall(Conflict):

Managers have diverse goals, opinions, values, experience
;\.933&6;\\),\53@533 f-bbd\.\b\*.ﬁajﬁ.\d‘

3. <Y/ w eSS (Coalition Formation):

Hold joint discussion and interpret goals and problems
CMSEal) g CaIAY jaadl g AS jidia LB Sie

Share opinions
ﬁb‘}n ;\SJL&A

Establish problem priorities
G el ol gl Ayaas



Obtain social support for problem, solution
dall g Uiall elaial) acal) o J guanl)

4. &adll(Search):

Conduct a simple, local search
CEUail) daaa g o dua ¢ )

Use established procedures if appropriate
Olay) e Aadll) cile) Y aladiad

Create a solution if needed
Y a3 13) Ja sl

5. (aall 1l sl (Satisficing Decision Behaviour):

Adopt the first alternative that is acceptable to the coalition
AN 8 (e ¥ g (198 Ga ) (A



Incremental Decision Process Model
DI AN JASY dgay jail) Aglaad) 73 gad

This approach to decision-making, called the incremental decision process model, places
less emphasis on the political and social factors described in the Carnegie model, but tells
more about the structured sequence of activities undertaken from the discovery of a
problem to its solution.

Lelaia¥) g Lpalanad) Jal gl Ao J87 Sy ¢ I AN JASY dag i) Alaad) 73 gad Ao (3llad 53 (gl 138 S
s ) ACial) LS (e Aagiall LB aliial) Juadeiil) 4Si (S8 prida g9 A3Sd (A S 73 gad 8 48 gua gal),

An interrupt may mean an organization has to cycle back through a previous decision and

try something new.
13 Und g (b )8 ) 3983 o cuag Aalaial) o) dadalBal) a8,

Decision loops or cycles are one way the organization learns which alternatives will work.
anin (A1) Jitad) Aadiial) gy alai A1) (5 shall saa) A Ay AN il ) gal) g Bl

The ultimate solution may be very different from what was initially anticipated.
a1 gia S L Lalal Lalida gl Jad) 98y 8,

The steps take place in three major decision phases: identification, development and
selection.
DAY 9 ¢ o ghail) i pail) )l MASY dpeayiy Ja) g EOG B il ghadl) diaal,

1) Identification Phase
i) Al ya

e The identification phase begins with recognition.
o) el i el dds ga fag,

Recognition means one or more managers becoming aware of a problem and the
importance of making a decision.
DI A draal g AlSia 392 9 & pa SST g1 ) e o Gl o) iy,

Recognition is usually stimulated by a problem or an opportunity.
Ao b gl AlSdiay Bale il yicY) jadali aly.

A problem exists when elements in the external environment change or when internal
performance is perceived to be below standard.
Gsllaadl (s sial) (e S8 ARIA 2101 ey Latie ol Ao AN Al B jalic a0 Ledie AlSda a3 g3,



e The second step is diagnosis, in which more information is gathered if needed to
define the problem situation.
Uil gl g paail ¥ a3 1) cila glaall pa 2 Jal) pan aly i (andudil) 4 40Ul 3 ghdl),

Diagnosis may be systematic or informal, depending upon the severity of the problem.
LUCial) Badi o 5Ly cpam) 1 ol Ui ol (8 &,

2)Development Phase
Jihil) dla s

In the development phase, a solution is shaped to solve the problem defined in the
identification phase.
il Ada ja A Laaaad & Al Al dadlaal o JaSdS Al ¢ glaill Ada pa A,

The development of a solution takes one of two directions.
Caaladl aaf Jal) y ghat A,

« First, search procedures may be used to seek out alternatives within the
organization’s repertoire of solutions.
Laaial) b dalial) Jslad) de gana (i Jilay (8 uall Guad) Cilp) ja) addind B (Y g,

« The second direction of development is to design a custom solution.
uaaia Ja asaal g ghail) gégim\ e

3)Selection Phase
Sy Z\JAJA

The selection phase is when the solution is chosen.
dall jliial e oy il Als jall & JLEAY) Al g,

Evaluation and choice may be accomplished in three ways.
Gk &y JLIAY) 5 il JAT (e

The judgement form of selection is used when a final choice falls upon a single decision-
maker, and the choice involves judgement based upon experience.

(o) Aaall aSall ) JLARY) Allaw g caal g i adla o Al ) AN ady Ledie LAY B aSal) c gl addicd
5 _yeAl,

In analysis, alternatives are evaluated on a more systematic basis, such as with
management science techniques.
BIY) ale ULl afadicd Jia cdaagiae AS) (ulad o Jilad) anli aly (Julasl) 8



The Learning Organization
dalaial) dalaiall

These organizations are marked by much uncertainty at both the problem identification
and problem solution stages.
s g AdSiall apaal Al ja A Gl ade ey a8y Cilaliiall 038 s,

Combining the Incremental Process and Carnegie Models
S g galy Ay ail Aplaad) 73 gad gran

The Carnegie description of coalition building is gspecially relevant for the problem

identification stage.
ALial) yand s jal (ald (S8 Gulie CUENEN) pU i \S Ciaag,

When issues are ambiguous, or if managers disagree about problem severity, discussion,
negotiation and coalition building are appropriate.

NN el g ¢ ga gWTl) (AZBLLAY () ¢S3 (AlCEal) Bad (ld ¢ g atal) (LA Ladie g) Adaals LAY ¢ ¢S5 Ladis
Lpalia ol ghad,



Garbage Can Model

CDlagal) Abuu 73 gad

The garbage can model is not directly comparable to the earlier models because it deals
with the pattern or flow of multiple decisions within organizations, whereas the
incremental and Carnegie models focus on how a single decision is made.

JA1a Basaial) < ) AN (33a5 g Jaad ae Jalatty ASY ABJLad) 7 Mlailly 3 pdlea cBlageall Al 23 gad 4 e (S Y
aal g )8 M A8 o 38 e S g Ao il Adeal) ilad o) cpa B ccilalilal),

They result from three characteristics:
uaibad 36 ce il

1.

N =

Problematic preferences. Goals, problems, alternatives and solutions are ill-defined.
Ambiguity characterizes each step of a decision process.

Llae 83 ghd IS Jaay agadd] I3 Badaa 4 Jladl g (Jila) codISEall ccilaa ) (ANSEY) Cluadl)
AN KES}

Unclear, poorly understood technology. Cause-and-effect relationships within the
organization are difficult to identify. An explicit database that applies to decisions is
not available.

¥y Aalaiall Jal dauiill 5 ) BN Laald cmiall e sidia daggdall g daudal gl b L ol pigEY)
Q\Jbﬁ\u.b MMUQUQS&GJQQ.

Turnover. Organizational positions experience turnover of participants. In addition,
employees are busy and have only limited time to allocate to any one problem or
decision. Participation in any given decision will be fluid and limited.

pdely (il gindia ()88 gall 9% I ) ABLAYL | (S Jldiall | Jatiena Saast g5 ApaBAtil) cuaalial) 3yl
Bagana g Adipa i 8 ‘éigéz\sj.ﬁul\ Sy O I8 o Al g‘a’uamiaéjmdj_

The four streams relevant to organizational decision-making are as follows:
b LaS o Anaadaial) ) ) AN AL Albaial) day ) ciBbany):

Problems.

Potential solutions
Participants.

Choice opportunities



Consequences
8 gad)

There are four specific consequences of the garbage can decision process for organizational
decision-making: )
doalatl) Q\J‘Jﬂ‘@&i\w\uﬂcs‘gﬂﬁé‘gjﬂﬁ M) Aland Badaa ) g @J\ Suia:

1. Solutions may be proposed even when problems do not exist.
NS a3 68 Y Ladie Ja Jala 7 8 8

A manager might be sold on an idea and might try to sell it to the rest of the organization.
Aalilall 48l Lghy guudi Jgla g La B Sy yall oy 8

2. Choices are made without solving problems.
Sl Ja ¢ g8 il LA AT A%y

A choice such as creating a new department may be made with the intention of solving a
problem; but, under conditions of high uncertainty, the choice may be incorrect.

26 LAY e B (Ml oy ase Cig i JB A (oSl g cAlSE Ja Ay ay and pLEI) Jia )8 A ATy 48
e,

Moreover, many choices just seem to happen.
s ISy dand Ll cl JLEAY) (e waed) ga elld o 5 s,

3. Problems may persist without being solved.
Jad o 090 edMSEAl el 38

Organization participants get used to certain problems and give up trying to solve them; or
participants may not know how to solve certain problems because the technology is
unclear.

Ja i ()9S Ll iy Y B g clgda A glae (o ¢ paladion § Alna CISEa o Aailal) A )5S JLial) 3 g2y

L ol il (4 008 sy OIS iall (ylany,

4. A few problems are solved.
OISl Cpa Jul aas s AL,

The decision process does work in the aggregate.
Aen] iy AN HA3) Dles Jans,



Two characteristics of organizations that condition the use of decision approaches are (1)
problem consensus and (2) technical knowledge about the means to solve those problems.
48 pal) (2).9 Aiall J o (38 531 (1) 2 AN HASY AQbEa gz Malll aladind o ol i clalilall Glivald dllia
Al Sl Jat da ) Jilew gl ALY

Analyzing organizations along these two dimensions suggests which approach will be used
to make decisions.
<l ) A MASY Aaladind sl o) gl Baad B ae oy Guind) s e pUG Clalatal) Qs

Problem Consensus

Uiall Jga oY 381 48

Problem consensus refers to the agreement among managers about the nature of a problem
or opportunity and about which goals and outcomes to pursue.

G Al il g Cila Y g dua il of AdSEal) dagada (L G padall Cm U ) Al Joa 61 )W) (331 g5 sada
Lghdanl )

This variable ranges from complete agreement to complete disagreement.
JalSl) ML 5 Jalsl) BN i el 138 77 ) S,

Technical Knowledge about Solutions
Jslal) ol 45E) 48 mal)

Technical knowledge refers to understanding and agreement about how to solve problems
and reach organizational goals.
Lpapaiil) CalaaY) (gad g cSdal) Ja i Joa BN 5 agdl) ) AE3 43 jaall yads

This variable can range from complete agreement and certainty to complete disagreement
and uncertainty about cause—effect relationships leading to problem solution.

Al Al g caaaad) clBdle (jldy Gl ate g Jals) CSAY ) ¢l g JalSh) G Cp il 138 ¢ gl s O (S
Al da ) 5358,



EXHIBIT 13.8 Contingency Framework for Using Decision Models

PROBLEM
CONSENSUS

Individual:
Bargaining,
Coalition
Formation
= Organization:
= Carmegie Mode!
d
=
o
=
==
- .
= 3
-
— Individual:
b Judgement, Trial
and Error
Organization: Learning Organization:
Incremental Carnegie and Incremental
Decision Process Decision Process Models,
Model Evolving to Garbage

Can Model
& Sadl) aladiicdy i g plall by ) A1) MAS) sl

1. Problem Consensus (ds&all Jga 1) (88 55):
o Certain (géls): ilal) s ASiall J s plaa) @llia o5 Lavic,
o Uncertain (z=als »£): <yl 5 Al Jsa A dllin )5S Laxie,
2. Solution Knowledge (Jstalls 42 sall):
o Certain (Al g): 45 yre dagiill s camd) G 8l 5 J slall J sa 4l 48 el ) oS5 Ladic,
o Uncertain (Aasly £): daseia ye ol aana e Jslall o5 Laxic,

1. Cell 1: (Certain Problem Consensus, Certain Solution Knowledge)

o Individual (2.4): Rational Approach, Computation (busll ¢ SSEall zeill),
o AN JATY Lnlua 5 Lihaie Lagd 3 all aadiinsy,
« Organization (4alidl): Management Science (:_2¥! ale).



o Jeadyl jlaal s dilad) Jaladl dudde cudlad e Aadaiall adiad,
o ailadll:

o Jall s AlKad) Jsa JolS il g,

0 (e Maadl Jalall aladiuly Lexa Jalaill (S g danal 5 il ) all,

2. Cell 2: (Uncertain Problem Consensus, Certain Solution Knowledge)

« Individual (=.4): Bargaining, Coalition Formation (<l S5 ¢da slusall),
0 G5 Jaa sill CARIAT el (gomgliill e o 3l ading,

« Organization (4eial): Carnegie Model (xS 73 543).
o lela s Kl apanl de slsal) 5 LB Jle S 5]

o ailadll: o
o L_aLAJM\)A.c;\J‘Y\A&;ﬁé\c@uﬂcmbw\ﬁﬂ\

3. Cell 3: (Certain Problem Consensus, Uncertain Solution Knowledge)

« Individual (2Ji%): Judgement, Trial and Error (Laall s 4 sl ¢ ad il aSal)),
o ol (N dsalle pally el o o jall adiay,
Organization (4kiall): Incremental Decision Process Model (313 dumg il dplaall 23 sa
SN,
O) Jslall kil 5 pieall il ghaall (o Al e dalaiall adins,
o ailadll:
o Gma X |kl allatigdd 5 ma ye Jslall (S Aol 5 A1),

4. Cell 4: (Uncertain Problem Consensus, Uncertain Solution Knowledge)

o Individual (2,4): Bargaining, Judgement, Inspiration and Imitation ( aSal) ¢da sluall
ED) 5 ALl ¢ adiill),
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Organization (4kiall): Learning Organization, Evolving to Garbage Can Model ( ikl
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o Problem Consensus: aSéall J o= ¢ )¥) &8 55,

o Solution Knowledge: Jsiall 48 jaall,

« Rational Approach: 3l zgill,

« Management Science: 3_-¥) ale,

« Bargaining: 4« b,

o Coalition Formation: <laill oLy,

o Incremental Decision Process Model: il 3a3Y dpag pxill dlaall =3 gai,
e Learning Organization: delxidl delaidll,

o Garbage Can Model: &3lagall dlu 73 gai,

EXHIBIT 13.9 Summary of decision-making models

Prescriptive
Dbscribtivs
Descriptive
Descriptive

and incremental

Garbage can Organizational Descriptive

Contingency Individual Prescriptive

Dirk Akkermans, Assistant Professor, Department of International Econorics and Business, Faculty of Economics and Business, University
of Groningen, the Netherlands.



Special Decision Circumstances
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In a highly competitive world beset by global competition and rapid change, decision-
making seldom fits the traditional rational, analytical model.
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Today’s managers have to make high-stakes decisions more often and more quickly than
ever before in an environment that is increasingly less predictable.
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High-Velocity Environments s jud) dlle cilil)

m Successful decision-makers tracked information in real time to develop a deep and
intuitive grasp of the business.
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m During a major decision, successful companies began immediately to build multiple
alternatives.
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m Fast, successful decision-makers sought advice from everyone and depended heavily on
one or two savvy, trusted colleagues as counsellors.
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m Fast companies involved everyone in the decision and tried for consensus; but if
consensus did not emerge, the top manager made the choice and moved ahead.
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m Fast, successful choices were well integrated with other decisions and the overall strategic
direction of the company.
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Escalating Commitment
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A much more dangerous mistake is to persist in a course of action when it is failing, a
tendency referred to as escalating commitment. ‘
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Research suggests that managers often continue to invest time and money in a solution
despite strong evidence that it is not working.
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Two explanations are given for why managers escalate commitment to a failing decision.
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The first is that they block or distort negative information when they are personally
responsible for a negative decision. ‘ : ‘
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In some cases, they continue to throw good money after bad even when a strategy seems
incorrect and goals are not being met.
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A second explanation for escalating commitment to a failing decision is that consistency
and persistence are valued in contemporary society.
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CASE FOR ANALYSIS 13.1

Policy Models, Rationality, Deliberative Approaches, and Co-production in
Government Decision-making

Governments globally are concerned about the ways in which public policy decisions are
taken and are often placed in a dilemma between making the best use of public funds
through rational decision-making and the need to maintain the popular support of the
public through consensus-seeking decision-making.
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Policy models help to promote a better understanding of the nature of policy. If
policymakers pursued and were capable of complete rationality, they would produce
"perfect’ policies. However, most policymakers are not capable of complete rationality,
and many have developed more incremental approaches to policy-making.

G 1 g3l g ALalsl) AiMEad) cilaisd) £ la &l 13) Acdpadd) dagadal Juad] agd 5 5a0 8 Cilulad) 7z Mad do s
Adalsl) AdlEad) (38ad o o il e Clubad) pliva alina ()8 1) ey, "Alla" Ciluliw | gadd 38 ) gilS! (Lgale
laulpaad) e (8 ST Uiy 505 g e psiSl) ok By,

A useful approach to policy models is to divide them into three types:

1. Ideal Type: This does not exist in real life, but can help understanding and explanation by
exploring underlying ideas or concepts (such as "rationality").

2. Descriptive Model: This relates to a real-life situation, and its purposes are those of description,
exploration, and understanding.

3. Prescriptive Model: This relates to what is desirable. It is concerned with what ought to be
rather than with what is.
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Most policy theorists employ models that emphasize the process of policymaking and its
cyclical nature over time. Some models are prescriptive, and some are descriptive. Certain



theorists use a "'mixed model™ combining both descriptive and prescriptive elements.
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Simen’s approach is to consider rationality as a prescriptive idea but then to argue that
more policymakers should move towards the rational policy model. Eindblom believes that
incrementalism is the way policy is formulated, and argues that it should remain so.

Elsad gad JiSH ) ety o cilubpd) plia o ol Jalag A0St g 55 5 S8 AEa) e ) g8 O garm ggie

5 O e Wl Jalan g ccibalpnad) gy Sl 0 A8y Jhall & Aua i) o p sl By Lady Aidlial) cbusbad)
Slig

The value of public policy models is that they are based on studies of decision-making in a
public services context, unlike many of the contemporary ""business-like™ management
decision-making techniques. Government decision-takers try to combine the best of public
policy analysis with business-like approaches contextualized for the public sector.
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The concept of evidence-based policy and decision is now a standard of best practice in
Government. Increased public scrutiny and accountability have created a heightened
awareness of the need for politicians and decision-makers to have a range of evidence to
support policy development and decision-making in the public sector.

Gl ) 35 o) S8 il gSald) b il laal) JuadY 1 laa Y)Y L) Baiiacal) cul ) Al g clabaaad) a ggda puing
Clabaaad g ghi oo A Y (e Ae gana I AN glia g ¢ gambanad) elliag i 349 s & 911 3345 ) Uplall g alad)
aladl g Ul & el ) il i) g,

Deliberative methods are commonly described as a hybrid between consultation and
research. They aim to involve stakeholders in decision-making in a meaningful way by
providing an opportunity for participants to find out more about an issue, consider
relevant evidence, and discuss this evidence with other participants before presenting their
views.

s dles b dalaal) cilaual @y ) Ciagd gl g 8 L) C e Ll Bale 4 ghddll qudid) Chua 53
Alal) cld sy B il g e dpad e 3 Jall 48l S Liall da b b g8 DA (e ¢ e ld Ay oy ) i)
L s 0 (AN (S jldial) e LgidiBliag,

Involvement in deliberative methods has been seen as potentially more satisfying and
beneficial for participants. In addition, there is an increasing interest in openness,



accountability, stakeholder involvement, and co-ownership of governmental decisions.
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Common methods include Citizens’ Juries or Panels where jurors or panelists hear from a
variety of experts and cross-examine them about the topic and present their findings as a
report and/or an oral presentation at the end of the event.
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Consensus Conferences also facilitate discussion between the public and experts and
usually last for several days. The media play a key part in this decision-making process and
are invited to attend the event. )
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Deliberative Workshops are similar to focus groups, although there is more time devoted to
the deliberation of the decision.
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Another approach is Deliberative Polling, which is a quantitative assessment of people’s
opinions before the deliberation. Participants are then provided with in-depth information
on the subject matter, participate in discussions, and have the opportunity to ask questions.
After deliberation, participants’ opinions are measured once again, and any differences
between the two are highlighted.
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Deliberative Mapping combines quantitative and qualitative methods to assess how
participants rate different policy options against a set of defined criteria.
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The emphasis of the process is not on integrating expert and public voices but on
understanding the different perspectives each offers to a policy process.
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Co-production is a relationship where professionals and citizens share power to design,
plan, and deliver support together, recognizing that both partners have vital contributions
to make in order to improve the quality of life for people and communities.
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Genuine co-production is not involvement, consultation, and engagement — it goes further

than seeking people’s advice or asking their opinion and then reverting back to the state to
deliver.
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Co-production relates to the generation of human and social capital and to strengthening
the ‘core economy,’ and sees these aims as the central roles of all public services.
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It therefore has potentially transformative implications for the way public services are
delivered and how the public sector thinks about power, resources, responsibility,
accountability, and outcomes.
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Questions

1. Is governmental decision-making programmed or non-programmed? Explain your
answer.
1. ) 7 8 S s ol e dagSal) il ) AN 283 Ja,

Answer:
Governmental decision-making can be both programmed and non-programmed,
depending on the context.
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Programmed decisions are those that follow established guidelines, policies, or procedures
for routine and recurring problems.
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Non-programmed decisions, on the other hand, deal with unique, complex, and
unstructured problems that require creative problem-solving and innovation.
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Government decision-making often involves a combination of these approaches, as routine
decisions may follow a programmed approach while strategic or crisis-related decisions
require non-programmed processes.
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2. What would be the disadvantages of pure rationality in government decision-making?
2. $ha gSall <l ) il MAS) & 4d pall i) g A L

Answer:
Pure rationality in government decision-making, while ideal, has several disadvantages:
ZWENE

1. Time and Resource Constraints: Rational decision-making requires significant time
and resources to gather all necessary information and evaluate all possible options, which
may not always be feasible in urgent situations.
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2. Information Overload: Policymakers might face an overwhelming amount of data,
making it challenging to analyze everything effectively.
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3. Dynamic Environments: Government decisions often occur in rapidly changing
environments where new information can render previously rational decisions obsolete.
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4. Lack of Public Acceptance: Decisions made purely on rational grounds may not always
align with public opinions or values, leading to resistance or dissatisfaction.
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3. What are the advantages and disadvantages of public involvement in governmental
decision-making?
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Answer:

Advantages:
BN IFTEENE

1.

Enhanced Legitimacy: Public involvement ensures decisions have broader support and
legitimacy.
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Diverse Perspectives: Engaging citizens allows policymakers to consider a wider range
of ideas and solutions.

4o sl i g g Jslalls SISV e g sl Ao gana sle) ey Sl g lial cpibal gal) I 530 o,
Increased Accountability: Public participation holds decision-makers accountable for
their choices.
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Improved Trust: It fosters trust between citizens and government through transparency.
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Disadvantages:

Qeadl;
1.

2.

Time-Consuming: Public involvement can slow down decision-making processes.
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Risk of Conflict: Differing opinions among participants can lead to disagreements or
stalemates.
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Costly Process: Organizing participatory initiatives can require significant resources.
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Uninformed Opinions: Participants may lack expertise or understanding of complex

policy issues, which can skew outcomes.
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What are the two stages of the rational approach in organizational decision-
making?
o A) Problem Identification and Problem Execution
o B) Problem Identification and Problem Solution
o C) Problem Definition and Problem Evaluation
o D) Problem Identification and Problem Diagnosis
Answer: B) Problem Identification and Problem Solution
Which decision-making model emphasizes the flow of multiple decisions within
organizations?
o A) Carnegie Model
o B) Incremental Decision Process Model
o C) Garbage Can Model
o D) Rational Approach
Answer: C) Garbage Can Model
What does the bounded rationality perspective suggest about decision-making?
o A) Decisions are always made using perfect information.
o B) Decision-making is limited by time, resources, and cognitive capacity.
o C) Decision-making is primarily based on intuition and inspiration.
o D) Decisions are optimal and follow systematic procedures.
Answer: B) Decision-making is limited by time, resources, and cognitive capacity.
What is the primary focus of the Carnegie Model in decision-making?
o A) Achieving consensus on well-defined goals.
o B) Incremental changes to problem-solving techniques.
o C) Coalition-building among managers to solve ambiguous problems.
o D) Applying mathematical models to analyze decisions.
Answer: C) Coalition-building among managers to solve ambiguous problems.
Which of the following is a key characteristic of non-programmed decisions?
o A)They are repetitive and follow established procedures.
o B) They are novel, poorly defined, and lack clear solutions.
o C) They rely on management science techniques.
o D) They are implemented using programmed routines.
Answer: B) They are novel, poorly defined, and lack clear solutions.

What is the first step in the problem identification phase of the rational approach?
o A) Define the decision problem
o B) Monitor the decision environment
o C) Diagnose the problem
o D) Specify decision objectives
Answer: B) Monitor the decision environment
Which phase in the incremental decision process model involves recognizing a
problem?
o A) Selection Phase
o B) Identification Phase
o C) Development Phase
o D) Solution Phase
Answer: B) Identification Phase



8. Which of the following is NOT a consequence of the Garbage Can Model?
o A) Problems may persist without being solved.
o B) Solutions are always aligned with organizational goals.
o C) Choices are made without solving problems.
o D) Solutions may be proposed even when problems do not exist.
Answer: B) Solutions are always aligned with organizational goals.
9. What approach combines both descriptive and prescriptive elements in
policymaking?
o A) Rational Approach
B) Mixed Model
C) Incremental Decision Process Model
D) Garbage Can Model
Answer: B) Mixed Model

o O O

10. What is the primary aim of deliberative methods in governmental decision-making?

o A)To reduce the number of stakeholders involved in the decision.

o B)Tointegrate expert and public voices for understanding perspectives.
o C) To create consensus through systematic analysis.

o D) To prioritize governmental authority in decision-making.

Answer: B) To integrate expert and public voices for understanding perspectives.

11. What is the key difference between programmed and non-programmed decisions?
o A) Programmed decisions deal with creativity, while non-programmed decisions are

routine.

o B) Programmed decisions are well-defined and repetitive, while non-programmed

decisions are novel and unstructured.

o C) Non-programmed decisions follow a set procedure, while programmed decisions

require innovative approaches.

o D) Programmed decisions are strategic, while non-programmed decisions are
operational.
Answer: B) Programmed decisions are well-defined and repetitive, while non-
programmed decisions are novel and unstructured.

12. In the Carnegie Model, why is coalition-building critical during decision-making?

o A) It minimizes the need for external resources.

o B) It ensures alignment between ambiguous goals and varying priorities.
o () It focuses on cost-effective decision-making.

o D) It eliminates conflict entirely.

Answer: B) It ensures alignment between ambiguous goals and varying priorities.
13. What is the primary limitation highlighted by the bounded rationality perspective?

o A) Lack of organizational consensus.
o B) Limited rationality due to complexity, time, and resources.
o C) Poor communication among decision-makers.
o D) Overreliance on intuition over systematic processes.
Answer: B) Limited rationality due to complexity, time, and resources.
14. Which step in the rational approach focuses on selecting the best solution?
o A) Develop Alternative Solutions



B) Evaluate Alternatives

C) Choose the Best Alternative

D) Diagnose the Problem

Answer: C) Choose the Best Alternative

15. What is the key focus of deliberative polling in decision-making?

@)
@)

A) Gathering expert opinions only.

B) Combining quantitative pre- and post-discussion assessments of participants’
opinions.

C) Measuring public opinion after decisions are made.

D) Creating solutions through direct public involvement.

Answer: B) Combining quantitative pre- and post-discussion assessments of
participants’ opinions.

16. What does the garbage can model primarily address?

o

@)
@)
@)

A) A systematic approach to decision-making.

B) Structured problem-solving in stable environments.

C) The chaotic flow of multiple decisions in organizations.

D) Incremental decision-making processes.

Answer: C) The chaotic flow of multiple decisions in organizations.

17. What are the two primary factors influencing the choice of decision-making
approaches in organizations?

o

@)
@)
@)

A) Resource availability and organizational culture

B) Problem consensus and technical knowledge

C) Decision-maker expertise and time constraints

D) Organizational structure and size

Answer: B) Problem consensus and technical knowledge

18. According to the Carnegie Model, what leads managers to adopt satisficing
behaviors?

@)

O
O
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A) Pressure to achieve perfect solutions.

B) A need to meet coalition demands quickly.

C) Time constraints and bounded rationality.

D) The absence of internal organizational constraints.
Answer: C) Time constraints and bounded rationality.

19. In the incremental decision process model, what is the primary focus of the
development phase?

@)

o O O

A) Recognizing and defining a problem.

B) Bargaining and coalition-building.

C) Shaping and testing solutions to solve the identified problem.

D) Selecting the best alternative for implementation.

Answer: C) Shaping and testing solutions to solve the identified problem.

20. Which of the following is a consequence of escalating commitment?

o

@)
@)
@)

A) Managers quickly abandon failing decisions.

B) Decision-makers are encouraged to explore alternative strategies.

C) Time and resources are continually invested in failing solutions.

D) Organizations focus more on short-term solutions.

Answer: C) Time and resources are continually invested in failing solutions.



21.

22.

23.

24,

25.

26.

27.

Which decision-making approach is most suitable when both problem consensus
and solution knowledge are clear?
A) Rational Approach
B) Incremental Decision Process Model
C) Garbage Can Model
D) Carnegie Model
Answer: A) Rational Approach
What is the main role of evidence-based policy in governmental decision-making?
o A) Eliminating public participation in decision-making processes.
o B) Reducing accountability for decisions.
o C) Using data and evidence to inform policy development.
o D) Increasing the speed of decision-making processes.
Answer: C) Using data and evidence to inform policy development.
Why are deliberative methods considered beneficial in public decision-making?
o A) They completely replace traditional decision-making models.
o B) They combine consultation with research to include stakeholders.
o C) They eliminate uncertainty in public policy decisions.
o D) They prioritize governmental authority over public participation.
Answer: B) They combine consultation with research to include stakeholders.

@)
@)
@)
@)

What is the primary objective of the rational approach to decision-making?
o A)To rely on intuition for quick decisions.
o B) To use systematic procedures for optimal solutions.
o C) To reduce the role of managers in decision-making.
o D) To prioritize coalition-building over structured processes.
Answer: B) To use systematic procedures for optimal solutions.
According to the bounded rationality perspective, what limits managers’ ability to
make perfect decisions?
o A) Organizational hierarchy.
o B) Limited rationality due to constraints like time and resources.
o C) Excessive access to information.
o D) Over-reliance on external consultants.
Answer: B) Limited rationality due to constraints like time and resources.
Which phase in the incremental decision process model involves diagnosing the
problem?
o A)Selection Phase
o B) Development Phase
o () Identification Phase
o D) Solution Phase
Answer: C) Identification Phase
What characteristic distinguishes the Garbage Can Model from other decision-
making models?
o A) Focus on systematic problem-solving.
o B) Emphasis on structured coalition-building.
o () It deals with multiple decisions flowing chaotically in organizations.
o D) Reliance on incremental steps to address problems.
Answer: C) It deals with multiple decisions flowing chaotically in organizations.



28.

29.

30

31.

32.

33.

34.

35.

Why is coalition-building essential in the Carnegie Model?
o A) It eliminates the need for technical knowledge.
o B) It resolves conflicts arising from ambiguous goals.
o () It ensures decisions are based solely on intuition.
o D) It prioritizes short-term problem-solving.
Answer: B) It resolves conflicts arising from ambiguous goals.

What is the first step in the problem identification stage of the rational approach?
o A) Define the decision problem.
o B) Monitor the decision environment.
o C) Diagnose the problem.
o D) Specify decision objectives.
Answer: B) Monitor the decision environment.

. Which type of decision-making is most likely to involve creative problem-solving?

o A) Programmed Decision-Making
o B) Non-Programmed Decision-Making
o C) Incremental Decision Process Model
o D) Rational Decision-Making
Answer: B) Non-Programmed Decision-Making
In which phase of the incremental decision process model are alternative solutions
designed or searched for?
o A) ldentification Phase
o B) Development Phase
o C) Selection Phase
o D) Recognition Phase
Answer: B) Development Phase
What is the ultimate goal of satisficing behavior in decision-making?
o A) To achieve the best possible solution.
o B)Tofind a solution that is "good enough."
o C) To delay decision-making until certainty is achieved.
o D) To ensure all stakeholders are fully satisfied.
Answer: B) To find a solution that is "good enough."
What does problemistic search refer to in decision-making?
o A) Searching for a solution using systematic, scientific methods.
o B) Conducting a comprehensive analysis of all potential solutions.
o C) Looking for a quick solution within the immediate environment.
o D) Focusing on long-term solutions for recurring problems.
Answer: C) Looking for a quick solution within the immediate environment.

What type of decisions are typical in high-velocity environments?

o A) Highly structured and systematic decisions.

o B) Rapid, high-stakes decisions with integrated alternatives.

o C) Decisions driven solely by public consensus.

o D) Incremental decisions focusing on short-term goals.

Answer: B) Rapid, high-stakes decisions with integrated alternatives.

What are the four streams of the Garbage Can Model?

o A) Problems, Potential Solutions, Participants, and Choice Opportunities.
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B) Problems, Participants, Solutions, and Technical Knowledge.
C) Opportunities, Strategies, Participants, and Analysis.
o D) Goals, Solutions, Participants, and Rational Processes.

Answer: A) Problems, Potential Solutions, Participants, and Choice Opportunities.
Which model combines the structured sequence of activities with coalition-building
during decision-making?

o A) Rational Model

o B) Incremental Decision Process Model

o C) Carnegie Model

o D) A combination of Carnegie and Incremental Models

Answer: D) A combination of Carnegie and Incremental Models

What does the term “escalating commitment” describe in decision-making?
o A) Moving forward quickly with a decision despite uncertainty.
o B) Persisting in a failing course of action despite evidence of failure.
o C) Revisiting previous decisions to improve outcomes.
o D) Increasing the scope of decision-making to include more stakeholders.

Answer: B) Persisting in a failing course of action despite evidence of failure.

Which approach is used in environments where solutions are unclear and there is
little consensus on the problem?

o A) Rational Approach

o B) Incremental Decision Process Model

o C) Learning Organization Approach

o D) Management Science Approach

Answer: C) Learning Organization Approach

What type of knowledge is essential for technical decision-making in organizations?
o A) Intuitive knowledge.
o B) Rational knowledge.
o C) Technical knowledge about solutions.
o D) Emotional intelligence.
Answer: C) Technical knowledge about solutions.

What is the main characteristic of the incremental decision process model?
o A) Emphasis on coalition-building and bargaining.
o B) Astructured sequence of activities from problem identification to solution.
o C) Systematic application of mathematical techniques.
o D) Reliance on intuition and quick judgments.

Answer: B) A structured sequence of activities from problem identification to solution.
Which of the following is NOT a consequence of the bounded rationality
perspective?

o A) Time constraints limit decision-making.

o B) Managers rely on systematic analysis for all decisions.

o C) Managers often make decisions under uncertainty.

o D) Limited cognitive capacity affects the evaluation of alternatives.

Answer: B) Managers rely on systematic analysis for all decisions.

What does the Carnegie Model suggest about decision-making in organizations?
o A)ltis based entirely on rational and systematic processes.
o B) Itinvolves coalition-building due to ambiguous goals and constraints.
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o () It depends heavily on management science techniques.
o D) It eliminates conflict through structured processes.

Answer: B) It involves coalition-building due to ambiguous goals and constraints.
Which model is most suitable for addressing chaotic decision-making processes in
organizations?

o A) Rational Approach

o B) Incremental Decision Process Model
o C) Garbage Can Model

o D) Management Science Approach

Answer: C) Garbage Can Model

What is the ultimate goal of the rational approach in decision-making?
o A)To achieve the best possible decision through systematic steps.
o B) To resolve conflict among stakeholders.
o C) To address problems in chaotic environments.
o D) To simplify decision-making using heuristics.
Answer: A) To achieve the best possible decision through systematic steps.

Which factor does NOT directly influence decision-making in the bounded
rationality perspective?
o A)Time limitations.
o B) Availability of complete information.
o () Limited cognitive processing capacity.
o D) Complexity of problems.
Answer: B) Availability of complete information.
Which phase of the incremental decision process model includes diagnosing the
problem?
o A) Selection Phase
B) Development Phase
C) ldentification Phase
D) Implementation Phase
Answer: C) Identification Phase
What distinguishes programmed decisions from non-programmed decisions?
o A) Programmed decisions deal with novel problems.
o B) Non-programmed decisions follow established procedures.
o C) Programmed decisions are routine and repetitive.
o D) Non-programmed decisions are predictable.
Answer: C) Programmed decisions are routine and repetitive.
Which step in the rational approach involves defining the objectives of the decision?
o A) Develop Alternative Solutions
o B) Define the Decision Problem
o C) Specify Decision Objectives
o D) Evaluate Alternatives
Answer: C) Specify Decision Objectives
What is the role of problemistic search in decision-making?
o A) Conducting extensive research to identify root causes.
o B) Systematic evaluation of all possible alternatives.
o () Finding a quick solution in the immediate environment.

o O O
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o D) Prioritizing long-term over short-term solutions.
Answer: C) Finding a quick solution in the immediate environment.

Which decision-making approach combines evidence-based methods with public
sector requirements?
o A)Rational Approach
B) Evidence-Based Policymaking
C) Deliberative Methods
D) Incremental Decision Process Model
Answer: B) Evidence-Based Policymaking
What is the focus of deliberative workshops in public decision-making?
o A) Fast decision-making under high pressure.
o B) Comprehensive analysis by experts only.
o C) Meaningful stakeholder involvement and discussion.
o D) Avoiding conflict during decision-making processes.
Answer: C) Meaningful stakeholder involvement and discussion.
What happens in the selection phase of the incremental decision process model?
o A) Problems are identified and defined.
o B) Asolution is shaped and developed.
o C) The final decision is evaluated and chosen.
o D) Stakeholders are engaged in coalition-building.

Answer: C) The final decision is evaluated and chosen.

What type of decision-making is most appropriate for unstructured problems with
high uncertainty?

o A) Rational Approach

o B) Incremental Decision Process Model

o C) Garbage Can Model

o D) Management Science Approach

Answer: C) Garbage Can Model

Which characteristic is central to escalating commitment in decision-making?
o A) Re-evaluating all decisions objectively.
o B)Ignoring evidence of failure and persisting with a failing strategy.
o C) Avoiding high-stakes decisions.
o D) Relying on group consensus to prevent failure.

Answer: B) Ignoring evidence of failure and persisting with a failing strategy.
Which decision-making model emphasizes real-time tracking of information in fast-
paced environments?

o A) Rational Approach

o B) High-Velocity Decision-Making

o C) Carnegie Model

o D) Incremental Decision Process Model
Answer: B) High-Velocity Decision-Making
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1. What is the significance of the example of the battleship trying to sink an enemy ship in
management science?
o A) It shows the importance of using intuition in decision-making.
o B) Itillustrates the role of mathematical and statistical techniques in solving complex
problems.
o C) It emphasizes the importance of real-time decision-making in competitive
environments.
o D) It demonstrates the effectiveness of non-programmed decisions.
Answer: B) It illustrates the role of mathematical and statistical techniques in solving
complex problems.
2. What is the primary characteristic of co-production in decision-making?
o A) It focuses on consultation with external experts only.
o B) It ensures decision-making power is shared between professionals and citizens.
o C) It reduces the complexity of problems through technical analysis.
o D) It eliminates public involvement to streamline decision-making.
Answer: B) It ensures decision-making power is shared between professionals and
citizens.
3. Which of the following is a primary goal of evidence-based policymaking?
o A) Reducing the role of the public in decision-making.
o B) Using data and research to support policy development and decisions.
o C) Eliminating uncertainty from decision-making processes.
o D) Increasing reliance on intuition over systematic methods.
Answer: B) Using data and research to support policy development and decisions.
4. What do “problematic preferences” mean in the Garbage Can Model?
o A) Clear goals and well-defined solutions.
o B) Undefined goals, ambiguous problems, and uncertain solutions.
o C) Strong consensus among decision-makers.
o D) Overreliance on external data for solutions.
Answer: B) Undefined goals, ambiguous problems, and uncertain solutions.
5. Why is incrementalism considered a practical approach in policymaking?
o A) It allows policymakers to address problems comprehensively in one step.
o B) It focuses on small, manageable changes that adapt to evolving situations.
o Q) It eliminates ambiguity in organizational goals.
o D) It relies on perfect rationality for decision-making.
Answer: B) It focuses on small, manageable changes that adapt to evolving situations.

6. In the context of decision-making, what is a key limitation of personal constraints?
o A) Lack of access to external consultants.
o B) Decisions based on emotional needs rather than rational analysis.
o C) Excessive focus on long-term solutions.
o D) Over-reliance on group consensus.
Answer: B) Decisions based on emotional needs rather than rational analysis.
7. What is the role of consensus conferences in deliberative decision-making?
o A)To replace expert opinions with public opinions entirely.
o B) To facilitate dialogue between the public and experts over several days.
o C) To eliminate ambiguity in technical decision-making.
o D) To prioritize speed over stakeholder involvement.
Answer: B) To facilitate dialogue between the public and experts over several days.
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What does the mixed model in policymaking combine?
o A) Mathematical analysis and coalition-building.
o B) Descriptive and prescriptive elements.
o C) Technical knowledge and personal intuition.
o D) Incrementalism and management science.
Answer: B) Descriptive and prescriptive elements.
What is the “core economy” in the context of co-production?
o A) The financial resources allocated for public services.
o B) The social and human capital generated through public collaboration.
o C) The central decision-making unit in the government.
o D) The primary economic activities of private organizations.
Answer: B) The social and human capital generated through public collaboration.
How does deliberative mapping differ from traditional decision-making
approaches?
o A) It uses only qualitative data to evaluate policy options.
o B)Itintegrates public and expert perspectives equally.
o C) It ranks policy options against defined criteria using both qualitative and quantitative
methods.
o D) It eliminates the need for technical knowledge in decision-making.
Answer: C) It ranks policy options against defined criteria using both qualitative and
guantitative methods.

What are the three types of policy models discussed in the text?
o A) Rational, Non-Rational, Incremental
o B)Ideal, Descriptive, Prescriptive
o C) Technical, Organizational, Political
o D) Incremental, Coalition-Based, Evidence-Based
Answer: B) Ideal, Descriptive, Prescriptive
What is the primary risk associated with escalating commitment in organizational
decision-making?
o A)Increased reliance on external consultants.
o B) Allocating additional resources to failing strategies.
o () Shifting focus from long-term to short-term goals.
o D) Reducing stakeholder involvement in key decisions.
Answer: B) Allocating additional resources to failing strategies.
Which decision-making approach is most suitable for environments with high
complexity and uncertainty?
A) Rational Approach
B) Incremental Decision Process Model
C) Garbage Can Model
D) Management Science Approach
Answer: C) Garbage Can Model
What is a primary advantage of deliberative polling in public decision-making?
o A) It eliminates public involvement in decision-making.
o B) It provides quantitative insights before and after discussions.
o C) It prioritizes rapid decision-making over consultation.
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o D) It focuses exclusively on expert opinions.
Answer: B) It provides quantitative insights before and after discussions.
15. What is the significance of turnover in the Garbage Can Model?
o A) It stabilizes the decision-making process by ensuring continuity.
o B) It creates fluid and dynamic participation in decision opportunities.
o C) It eliminates uncertainty by relying on experienced employees.
o D) It ensures decisions are aligned with long-term goals.
Answer: B) It creates fluid and dynamic participation in decision opportunities.
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Sources of Conflict
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These sources of intergroup conflict include goal incompatibility, differentiation, task
interdependence, and limited resources.
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Goal Incompatibility

Goal incompatibility is probably the greatest cause of intergroup conflict in organizations.
Cilaliiall Jala cle ganall G £ uall S cundl a1 o o cilaal) (38 6 axe,

Limited Resources
52 gaaall 3 ) gall
In their desire to achieve goals or expand empires, groups want to increase their resources.
This throws them into conflict.
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Rational versus Political Model
(i) 63 el Jilia (M8l 63 | gadll
Characteristics of Rational Model
e Goals: Consistent across participants.
e Power and Control: Centralized.
e Decision Process: Orderly, logical, rational.

e Rules and Norms: Norm of efficiency.
¢ Information: Extensive, systematic, accurate.
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Characteristics of Political Model

e Goals: Inconsistent, pluralistic within the organization.

e Power and Control: Decentralized, shifting coalitions and interest groups.

o Decision Process: Disorderly, result of bargaining and interplay among interests.
¢ Rules and Norms: Free play of market forces; conflict is legitimate and expected.
¢ Information: Ambiguous; information used and withheld strategically.
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EXHIBIT 14.2 Sources of Conflict and Use of Rational versus Political Model

Rational Model Political Model

Sources of Potential Consistent across Goals Inconsistent, pluralistic within
Intergroup Conflict participants the organization
« (oal incompatibility Centralized Power and Decentralized, shifting coalitions
. . control and interest groups
= Differentiation »
. Orderly, logical, rational Decision Disorderly, result of bargaining

* Task interdependence process and interplay among interests
» limited resources :

Norm of efficiency Rules and Free play of market forces;

norms confiict is legitimate and
expected
Extensive, systematic, Information Ambiguous; information used

accurate and withheld strategically



Power and Organizations
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Power is an intangible force in organizations. It cannot be seen, but its effect can be felt.
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Power is often defined as the potential ability of one person (or department) to influence
other people (or departments) to carry out orders or to do something they would not
otherwise have done.
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Individual versus Organizational Power
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An earlier management or organizational behavior course that managers have five sources

of personal power.
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Five Sources of Personal Power:

1. Legitimate Power:
o The authority granted by the organization to the formal management position a
manager holds.
de i) ddalud);
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2. Reward Power:
o Stems from the ability to bestow rewards — a promotion, raise, or recognition — to other
people.
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3. Coercive Power:
o The authority to punish or recommend punishment.
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4. EXxpert Power:

o

Derives from a person’s greater skill or knowledge about the tasks being performed.
5_sad) Adales:
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5. Referent Power:

o

Derived from personal characteristics; people admire the manager and want to identify
with them.

L yal) ddabs;

Alia 15398 O (A O3 9 el el sy Gua (duaddl) cliaall (gl

Power versus Authority
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Definition of Authority:

Authority is related to power but is narrower in scope.
Blai Gual Leisl Aabially Jasi 5 Ladlal),

Three Properties of Authority:

1. Authority is vested in organizational positions:

o

People have authority because of their positions, not their personal characteristics or
resources.
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2. Authority is accepted by subordinates:

@)

Subordinates comply because they believe position holders have a legitimate right to
exercise power.
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3. Authority flows down the vertical hierarchy:

@)

Authority exists along the formal chain of command, with higher positions holding more
authority.
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Vertical Sources of Power
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All employees along the vertical hierarchy have access to some sources of power. There
are four major sources of vertical power: formal position, resources, control of decision
premises, and information and network centrality.
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1. Formal Position

Certain rights, responsibilities, and prerogatives accrue to top positions.
Lal) ualiall dima il liial g bl gana g (558 geial,

« People throughout the organization accept the legitimate right of top managers to
set goals, make decisions, and direct activities.
A g g I AN MRS g (il paad L 3l o paall e ) Gad) daiial) & alalal) aran Sy
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» Formal position power is sometimes referred to as "'legitimate power."
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Resources in Organizations
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o Resource allocation creates dependency relationships, as lower-level participants
rely on top managers for financial and physical resources needed to perform their
tasks.
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Resources as Power Tools

1. Control of Resources:
o Top managers can use resources as rewards (e.g., salaries, bonuses, promotions) or
punishments.
Dlsall e Bl
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2. Dependency Relationship:
o Resources create dependency; lower-level participants must comply with top managers
desired outcomes to secure resources.
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Control of Decision Premises

Definition:

Control of decision premises means that top managers set constraints or guidelines for
decision-making at lower levels.
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« Top managers make major decisions, such as setting organizational goals (e.qg.,
increasing market share).
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o Lower-level participants make smaller decisions, focusing on how to achieve those
goals.
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Control of Information

Definition:

Control of information is a source of power, as managers determine what information is
collected, how it is interpreted, and how it is shared.
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e Information is a primary business resource in today’s organizations.
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Information Control in Practice:

1. Selective Information Sharing:
o Managers may control the flow of information to shape how decisions are made.
) Al MR 48 Jasdal cilaglaal) (3305 8 ()9 patall aSay S8,
2. Information Sharing in Learning Organizations:
o In modern learning organizations, information is broadly and openly shared.
e g ao g Sy il glaal) & LGS caladl) o Aaildl) Lpaald) ciladiial) 8,
o This increases the power of employees at all levels, empowering them to make
informed decisions.
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EXHIBIT 14.3 Information Flow for Computer Decision at Clark Ltd.

The Board

Kenny
Director
Information
Technology

Turner J ‘ L Computer

Programmers Manufacturers

Reilly
Systems
Analysts

Source: Andrew M. Pettigrew, The Politics of Organizational Decision-Making (London: Tavistock, 1973), 235.
Information Flow for Computer Decision at Clark Ltd.

a8 & P Rl )8 MATY claglaal) (3835 Clark Ltd.

The Board (Top-Level Decision-Makers)

e Position: The ultimate authority responsible for approving significant decisions, such as
investing in computer technology.

e Role in Information Flow: Receives consolidated and strategic recommendations from Kenny,
the Director of Information Technology.
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Kenny (Director of Information Technology)

e Position: The central figure in the decision-making process, acting as a bridge between various
parties.

¢ Role in Information Flow:
o Collects inputs from:
= Turner (Programmers): Provides technical perspectives on software
development and programming capabilities.
= Reilly (Systems Analysts): Offers insights into system requirements and
analysis.
=  Computer Manufacturers: Shares information about available products,
specifications, and costs.
o Consolidates and filters the information for presentation to The Board.
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Turner (Programmers)

e Position: Technical specialists responsible for developing and managing the software.
¢ Role in Information Flow: Provides technical feasibility and potential programming challenges

to Kenny.
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Reilly (Systems Analysts)

e Position: Specialists who analyze system needs and ensure the compatibility of proposed
solutions.

¢ Role in Information Flow: Shares detailed system analysis and integration requirements with
Kenny.
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Computer Manufacturers

e Position: External suppliers providing technology, products, and cost details.
¢ Role in Information Flow: Supplies information about hardware capabilities, prices, and
options to Kenny.
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Centralization of Power

¢ Kenny holds a centralized power position, acting as the primary gatekeeper and filter for all
incoming information. This ensures that only relevant and critical insights reach The Board,
shaping their decision-making process.
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Network Centrality

LSl 438 5l

Definition:

Network centrality refers to being centrally positioned within an organization, allowing
access to crucial information and people necessary for the company’s success.
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People and Power
dald) g Jaldiy)
Top Leaders and Loyal Executives

e Top leaders often strengthen their power by surrounding themselves with a group of loyal
managers.
Cmaliiall fn il (e As ganay ageudil Aala) A (pa agilala ¢ g k) BAEY ey La WIS,
¢ These loyal managers keep the leader informed about events and potential disobedience or
troublemaking within the organization.
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¢ Having a management team that fully supports the leader’s decisions and actions allows top
executives to build alliances and exercise substantial power.
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Horizontal Sources of Power
4aY) Adalld) jalaa
Definition

e Horizontal power refers to relationships across departments or divisions within an
organization.
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e Although vice presidents or department heads may appear at the same level on an
organization chart, their actual power often differs significantly.
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Power Differences Across Departments

1. Unique Contributions:
o Each department contributes uniquely to the organization’s success, which impacts its

power.
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o Departments making a critical impact on organizational goals often wield more power.
281 Al i La LS Aaliial) Cilaa o )5 1580 dand 3 aludy),
2. Survey Example (Charles Perrow):
o A survey of managers in industrial firms identified differences in departmental power:
Al 3 g B A Aueliva S i A ¢ paal g M) yedil:
»= Sales departments were the most powerful in most firms.
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* Production departments were also influential in certain firms.
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= R&D and finance departments generally had less power.
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3. IT Departments Today:
o In modern organizations, IT departments are gaining significant horizontal power due
to their critical role in technology-driven operations.
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Measuring Horizontal Power

e Unlike vertical power, horizontal power is not explicitly defined in the organization chart,
making it more challenging to measure.
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e Theoretical Framework:
o The concept of strategic contingencies explains why certain departments have more
power than others.
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Dependency
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Dependency as a Source of Power

¢ Dependency between departments is a fundamental driver of relative power within
organizations.
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e Power is derived from possessing something another department needs.
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e The more one department relies on another, the greater the power imbalance.
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Financial Resources as Power
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The New "Golden Rule"
¢ "The person with the gold makes the rules."
"as) g8l auday Jlal) dllay pa,"

e Control over financial resources is one of the most significant sources of power in

organizations.
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Centrality
Ay 38 sl
Definition of Centrality

e Centrality reflects a department's significance in the organization's primary activities.
Aalatall Ao 1) AniY) A acdll 99 Aranf 438 pall s,

Non-substitutability
Slaiadl ALIAY axe
Coping with Uncertainty
Gl ade aa Jaladl
Political Processes in Organizations
cilaliiall B Lpabpad) Cilaland)
Power Definition:
e Power is described as the available force or potential for achieving desired outcomes.
Lo sal) guilill) el LSy f Aalial) 5 gl Lgily 5 g8l Cha g,
Politics Definition:

e Politics refers to the use of power to influence decisions in order to achieve desired outcomes.
408 pall i) (gaad Ciagy <l ) Al o 5l 5 gl aladiind ) dadpad) juds,



Two Ways of Defining Politics:

1. Self-Serving Behavior:
o Politics is seen as self-serving behavior, involving activities that are not sanctioned by
the organization.
Ladiial) B (e Badina b Addid] (radaly g Apadidl) gllaal) iy 1S gl Aadpad) il
2. Organizational Decision Process:

o Politics is viewed as a widespread process of decision-making within organizations.
clalaiall A1 e Al JATY gUail) dad g Aplans dusbpad) ) S

Three Domains of Political Activity
PEVA PR JLAN POR LYk
1. Structural Change (AS¢d) wtd):

e Politics often plays a role in decisions related to changes in the organizational structure.
BTl (gl Al ity Alaiall <l ) N 3159 Aulaad) cali La LI,

e Examples include restructuring departments, merging units, or creating new roles.
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2. Management Succession (4_/4¥/ 4486);

e Political behavior is prominent during changes in leadership or management succession.
BN ABMA i AL Al ) DA 10 pabad) bl 9%,
e This includes competition for leadership positions or influencing decisions about

appointments.
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3. Resource Allocation (4//sa)) yauaiy:

e Politics influences how resources like budgets, staff, or equipment are distributed across
departments.
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e Departments or individuals may engage in political behavior to secure resources for their own
priorities.
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1. Tactics for Increasing the Power Base (65l 8as18 bal 3 cilsics):

e Enter areas of high uncertainty
Lgl) 8 A seaall 5l Acaalad) Jol gall 8 aSaill dpaal HSH G ¢ pilie e (S o seial) 138 acy (yalll
3 8l 3ol 3 Aalaslll,

o Create dependencies
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« Provide scarce resources
Aalaiall (b iasgll 5 sl el Al S 3 51 pall alaiind A4S )y il

o Satisfy strategic contingencies
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2. Political Tactics for Using Power (558 aladiay Ayl CASCH):

e Build coalitions & expand networks
clelaia¥l z a2 Lo Gle A )l 513l oS3 G ¢ any Sl 5 clallall oy dpanf (8L (aill
e ),
e Assign loyal people to key positions
33l Calaad ac i 3l i) e Al DA e (il (A& Jradilly 2 sgdall 138 J sl aly,
o Control decision premises
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o Enhance legitimacy and expertise
Aol labuall 5 0 el ) 8 acal 3 il g dae Sl 3 s dpaal 0 paill,
e Make a direct appeal
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3. Tactics for Enhancing Collaboration (&stail) Jjajadil cilsacs):
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1. What is the primary cause of intergroup conflict in organizations?
o A) Limited resources
o B) Goal incompatibility
o C)Task interdependence
o D) Differentiation
NOBM1V
(@]
2. How does the political model of decision-making differ from the rational model?
o A) It focuses on centralized power and consistent goals.
o B) It assumes decision-making is logical and orderly.
o C) Itinvolves decentralized power and bargaining among interest groups.
o D) Itrelies solely on accurate and systematic information.
Answer: C) It involves decentralized power and bargaining among interest groups.
3. Which of the following is NOT a source of vertical power in organizations?
o A) Formal position
o B) Control of decision premises
o C) Network centrality
o D) Peer collaboration
Answer: D) Peer collaboration
4. What is one of the key characteristics of "'referent power*?
o A)Itis derived from organizational resources.
o B) It stems from admiration and the desire to identify with the leader.



o C)Itis based on technical expertise.
o D) Itis granted by formal management positions.
Answer: B) It stems from admiration and the desire to identify with the leader.
5. What is ""control of decision premises’ in the context of vertical power?
o A) Controlling the allocation of resources across departments.
o B) Setting guidelines or constraints for decisions made at lower levels.
o C) Controlling access to critical information.
o D) Making all decisions at the executive level.
Answer: B) Setting guidelines or constraints for decisions made at lower levels.
6. What is the role of network centrality in organizational power?
o A) It reflects the ability to allocate resources effectively.
o B) It ensures access to critical information and key personnel.
o () It establishes a department's formal position in the hierarchy.
o D) It eliminates dependency relationships among departments.
Answer: B) It ensures access to critical information and key personnel.

7. Which of the following best describes *'legitimate power™?
o A) Authority granted by personal traits.
o B) Power derived from controlling resources.
o C) Authority granted by the formal position within the organization.
o D) Power based on expertise in a specific field.
Answer: C) Authority granted by the formal position within the organization.
8. What is a key feature of the rational decision-making model?
o A) Decentralized decision-making.
o B) Inconsistent goals across participants.
o C) Logical and systematic processes.
o D) Ambiguous and strategically used information.
Answer: C) Logical and systematic processes.
9. What is the main advantage of controlling resources in an organization?
o A) It reduces dependency relationships among departments.
o B) It creates leverage to influence other departments or individuals.
o Q) It eliminates the need for network centrality.
o D) It ensures decisions are decentralized.
Answer: B) It creates leverage to influence other departments or individuals.
10. How do departments gain horizontal power within organizations?
o A) By holding formal positions of authority.
o B) By making unique and critical contributions to organizational success.
o C) By aligning directly with top-level management.
o D) By sharing resources equally across divisions.
Answer: B) By making unique and critical contributions to organizational success.
11. What is the primary role of top managers in controlling information?
o A) To centralize all decision-making processes.
o B) To determine what information is collected and how it is shared.
o C) To eliminate uncertainty through extensive research.
o D) To delegate decision-making to lower-level employees.
Answer: B) To determine what information is collected and how it is shared.



12.

13.

14.

15.

16.

Which type of power is most often associated with financial control in
organizations?

o

@)
@)
@)

A) Reward power

B) Legitimate power

C) Coercive power

D) Expert power

Answer: A) Reward power

What is the relationship between dependency and power in organizations?

o

@)
@)
@)

A) Power decreases as dependency increases.

B) Power is derived from controlling something another department needs.

C) Dependency eliminates the need for formal authority.

D) Dependency only applies to horizontal relationships.

Answer: B) Power is derived from controlling something another department needs.

What is one of the three key properties of authority in organizations?

o
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@)
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A) Authority is independent of formal positions.

B) Authority is rejected by subordinates if misused.

C) Authority is vested in organizational positions.

D) Authority is only applicable to lower-level management.
Answer: C) Authority is vested in organizational positions.

What does the concept of "*non-substitutability’* mean in organizational power?

o
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@)
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A) A department's role can easily be replaced by another.

B) A department's function cannot be easily replaced or outsourced.

C) A department's power is independent of its contributions.

D) A department has no influence on organizational goals.

Answer: B) A department's function cannot be easily replaced or outsourced.

How does political behavior influence resource allocation in organizations?
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A) By reducing ambiguity in decision-making.

B) By influencing decisions to secure resources for specific priorities.

C) By centralizing all decisions with top management.

D) By ensuring equal distribution of resources across departments.

Answer: B) By influencing decisions to secure resources for specific priorities.

What is the primary difference between power and authority in organizations?

o
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@)
@)

A) Power is based on personal relationships, while authority is based on charisma.

B) Power is broader in scope, while authority is tied to formal organizational positions.
C) Authority focuses on resource allocation, while power focuses on decision-making.
D) Authority is based on influence, while power is based on rewards.

Answer: B) Power is broader in scope, while authority is tied to formal organizational
positions.

Which of the following is NOT a characteristic of the political model?

o

O
O
O

A) Goals are consistent and shared among participants.

B) Power is decentralized and involves shifting coalitions.

C) Decision-making results from bargaining and interaction among interests.
D) Conflict is seen as legitimate and expected.

Answer: A) Goals are consistent and shared among participants.

What role does selective information sharing play in organizational power
dynamics?



A) It prevents ambiguity in decision-making.
B) It ensures that all employees have access to the same data.
C) It allows managers to influence decisions by controlling the flow of information.
D) It eliminates the need for formal authority in decision-making.
Answer: C) It allows managers to influence decisions by controlling the flow of
information.
4. How can managers enhance collaboration to reduce intergroup conflict?

o A) By increasing resource competition among departments.

o B) By clarifying goals and establishing interdependence between tasks.

o C) By emphasizing individual rather than group achievements.

o D) By centralizing all decision-making processes.

Answer: B) By clarifying goals and establishing interdependence between tasks.

5. What is the significance of dependency in horizontal power?

o A) It ensures that all departments are equally powerful.

o B) It shifts decision-making power to lower levels of the organization.

o C) It creates a power imbalance when one department relies heavily on another.

o D) It reduces competition between departments.
Answer: C) It creates a power imbalance when one department relies heavily on
another.

O O O O

6. Which source of personal power is derived from a manager's specialized knowledge
or expertise?
o A) Legitimate Power
o B) Expert Power
o C) Reward Power
o D) Referent Power
Answer: B) Expert Power
7. What is one of the main features of structural change as a domain of political
activity?
o A) Adjusting individual roles within a department.
o B) Restructuring departments, merging units, or creating new roles.
o C) Focusing solely on resource reallocation.
o D) Reducing dependency among departments.
Answer: B) Restructuring departments, merging units, or creating new roles.
8. How do IT departments gain horizontal power in modern organizations?

o A) By aligning with top managers.

o B) By being central to technology-driven operations.

o C) By controlling all financial resources.

o D) By delegating decision-making authority to other departments.

Answer: B) By being central to technology-driven operations.
9. What does the concept of "'free play of market forces™ in the political model refer
to?
A) The focus on rational decision-making processes.
B) The acceptance of conflict and competition among interests.
C) The elimination of bargaining in decision-making.
D) The reliance on centralized authority for decisions.
Answer: B) The acceptance of conflict and competition among interests.

O O O O



10. What is the role of centrality in determining a department’s power?
o A) It limits the department’s ability to influence organizational decisions.
o B) It reflects the department's importance to the organization’s primary activities.
o C) It reduces dependency relationships within the organization.
o D) It eliminates competition between departments.
Answer: B) It reflects the department's importance to the organization’s primary
activities.

11. Why is ambiguity in information considered a characteristic of the political model?
o A) It ensures decisions are made logically and systematically.
o B) It allows strategic use and withholding of information to influence outcomes.
o C) It reduces conflict among organizational participants.
o D) It simplifies the decision-making process for top managers.
Answer: B) It allows strategic use and withholding of information to influence outcomes.
12. What is the significance of the ""new golden rule™ in the context of organizational
power?
o A) It emphasizes the importance of ethical behavior in decision-making.
o B) It highlights that control over financial resources equates to control over decisions.
o C) It promotes equality in resource distribution among departments.
o D) It prioritizes collaboration over competition for resources.
Answer: B) It highlights that control over financial resources equates to control over
decisions.
13. What is the purpose of coalition-building as a political tactic in organizations?
o A)To centralize authority in top management.
o B) To create alliances that strengthen decision-making influence.
o C) To reduce dependency among departments.
o D) To eliminate the need for bargaining in decisions.
Answer: B) To create alliances that strengthen decision-making influence.
14. How does non-substitutability contribute to a department’s power?
o A) It reduces the department’s dependency on other resources.
o B) It ensures the department performs tasks that no other department can easily
replicate.
C) It eliminates the need for collaboration with other departments.
D) It aligns the department’s goals with organizational priorities.
Answer: B) It ensures the department performs tasks that no other department can
easily replicate.
15. What is a key feature of "'management succession’ as a domain of political activity?
o A) Ensuring resource allocation is equal among all departments.
o B) Competition for leadership positions and influencing appointment decisions.
o C) Restructuring organizational departments for efficiency.
o D) Eliminating conflict during leadership transitions.
Answer: B) Competition for leadership positions and influencing appointment decisions.
16. What is the effect of selective information sharing in learning organizations?
o A)ltincreases employee power by providing access to broad information.
o B) It limits decision-making to top management.
o () It eliminates the need for network centrality.



o D) It prioritizes secrecy over transparency in decision-making.
Answer: A) It increases employee power by providing access to broad information.

What is one key characteristic of the rational model?
o A) Decentralized power
o B) Consistent goals across participants
o C) Ambiguous information
o D) Result of bargaining
Answer: B) Consistent goals across participants
What does goal incompatibility most likely result in?
o A)Increased cooperation between groups
B) Intergroup conflict within organizations
C) Greater resource allocation to departments
D) Improved efficiency across tasks
Answer: B) Intergroup conflict within organizations
What is a major feature of the political model regarding decision processes?
o A) Logical and systematic
o B) Disorderly and based on bargaining
o C) Structured and rule-based
o D) Rational and efficient
Answer: B) Disorderly and based on bargaining
Which of the following is a property of authority?
o A)ltis based solely on personal characteristics.
o B)Itisvested in organizational positions.
o C)Itisaccepted only in informal roles.
o D) It exists only in horizontal relationships.
Answer: B) It is vested in organizational positions.
What type of power derives from admiration and personal characteristics of a
leader?
A) Legitimate power
B) Expert power
C) Reward power
D) Referent power
Answer: D) Referent power
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What is a characteristic of power in organizations?

o A)Itis always visible and measurable.

o B) Itis anintangible force whose effects can be felt.

o C)Itis derived solely from formal authority.

o D) Itisrarely influenced by dependency relationships.

Answer: B) It is an intangible force whose effects can be felt.

Which source of power is described as the ability to punish or recommend
punishment?

o A)Reward power

o B) Coercive power

o C) Legitimate power



o D) Referent power
Answer: B) Coercive power
8. What does control of decision premises allow top managers to do?
o A) Delegate major decisions to lower-level employees
o B) Set constraints and guidelines for decisions made at lower levels
o C) Eliminate ambiguity in decision-making
o D) Share authority equally across all levels
Answer: B) Set constraints and guidelines for decisions made at lower levels
9. Which of the following is NOT a source of horizontal power?
o A) Unique contributions to organizational goals
o B) Formal position in the vertical hierarchy
o C) Control over critical resources
o D) Strategic importance to the organization
Answer: B) Formal position in the vertical hierarchy
10. What is the relationship between resources and dependency in organizations?
o A) Resources reduce the need for dependency relationships.
o B) Control of resources increases dependency among departments.
o C) Resources are unrelated to power dynamics.
o D) Dependency relationships are eliminated through resource sharing.
Answer: B) Control of resources increases dependency among departments.

11. What is one example of political activity in the domain of structural change?
o A) Creating new leadership positions
o B) Merging departments or units
o C) Adjusting resource allocation
o D) Eliminating management roles
Answer: B) Merging departments or units
12. How does network centrality provide power in organizations?
o A) By limiting access to critical information
o B) By positioning individuals at the center of communication and decision-making
networks
C) By granting formal authority over other employees
o D) By eliminating the need for collaboration
Answer: B) By positioning individuals at the center of communication and decision-
making networks
13. Which tactic is used to enhance collaboration and reduce conflict between groups?
o A) Increasing competition for resources
o B) Clarifying interdependence and aligning goals
o C) Withholding critical information
o D) Reducing task interdependence
Answer: B) Clarifying interdependence and aligning goals
14. What does the phrase "'the person with the gold makes the rules™ imply about
power in organizations?
o A) Power is distributed equally among employees.
o B) Financial control provides significant influence.
o C) Authority is unrelated to resource control.



o D) Resource sharing eliminates dependency.
Answer: B) Financial control provides significant influence.
15. Why is information control considered a source of power?
o A) It limits employees’ access to resources.
o B) It allows managers to shape decision outcomes.
o C) It decentralizes decision-making authority.
o D) It eliminates ambiguity in organizational goals.
Answer: B) It allows managers to shape decision outcomes.

1. What is one characteristic of the political model regarding goals in organizations?
o A) Consistent and unified
o B) Inconsistent and pluralistic
o C) Rational and orderly
o D) Centralized and logical
Answer: B) Inconsistent and pluralistic
2. What is the definition of power in organizations?
o A) The visible ability to control all resources
o B) The potential ability to influence others to achieve desired outcomes
o C) The authority granted by formal positions
o D) The systematic control of decision-making processes
Answer: B) The potential ability to influence others to achieve desired outcomes
3. Which of the following is a feature of authority in organizations?
o A)ltis accepted by subordinates.
o B)Itis based on informal networks.
o C) It bypasses the formal chain of command.
o D) Itis unrelated to organizational positions.
Answer: A) It is accepted by subordinates.
4. What happens when resources are used as rewards in organizations?
o A) Dependency relationships are eliminated.
o B) They motivate employees to align with organizational goals.
o C) They decrease the centrality of top managers.
o D) They make decision-making ambiguous.
Answer: B) They motivate employees to align with organizational goals.
5. Which type of power is granted by formal organizational positions?
o A)Reward power
o B) Coercive power
o C) Legitimate power
o D) Referent power
Answer: C) Legitimate power

6. What does the term "dependency relationship™ refer to in the context of resource
allocation?
o A) Employees relying on each other equally
o B) Departments needing resources from top managers
o C) Centralized decision-making by lower-level managers
o D) Independent work across departments
Answer: B) Departments needing resources from top managers
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What is a consequence of controlling critical resources in an organization?

o

@)
@)
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A) It ensures the elimination of task interdependence.

B) It creates dependency among employees and departments.

C) It decentralizes power across multiple departments.

D) It reduces the influence of top managers.

Answer: B) It creates dependency among employees and departments.

Which source of personal power arises from granting promotions and bonuses?

o
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A) Legitimate power

B) Coercive power

C) Reward power

D) Referent power
Answer: C) Reward power

What role do loyal managers play in maintaining top leaders' power?
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A) They enforce strict policies among departments.

B) They inform leaders about potential issues or disobedience.

C) They reduce the flow of information to other employees.

D) They create dependency relationships.

Answer: B) They inform leaders about potential issues or disobedience.

What does control of information enable managers to do?

@)
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A) Align all departments with organizational goals.

B) Shape decisions by determining what information is shared.

C) Decentralize authority to lower-level employees.

D) Eliminate ambiguity in decision-making processes.

Answer: B) Shape decisions by determining what information is shared.

What type of power derives from the ability to punish or recommend punishment?

o
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A) Legitimate power

B) Reward power

C) Coercive power

D) Referent power
Answer: C) Coercive power

What is the impact of non-substitutability on a department’s power?

@)
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A) It reduces the department's influence on organizational goals.

B) It strengthens the department's position by making its role irreplaceable.

C) It eliminates the need for collaboration with other departments.

D) It centralizes authority in lower-level management.

Answer: B) It strengthens the department's position by making its role irreplaceable.

Why are sales departments often considered powerful in organizations?

o
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A) They manage the organization’s financial resources.

B) They make unique contributions to organizational success.

C) They control task interdependence across all divisions.

D) They reduce dependency relationships within the organization.
Answer: B) They make unique contributions to organizational success.

How does ambiguity in information influence decision-making in the political
model?

@)
@)

A) It reduces the ability to form coalitions.
B) It allows strategic use and withholding of information.



o () It eliminates conflict between departments.
o D) It encourages consistent and logical decision-making.
Answer: B) It allows strategic use and withholding of information.
15. What is the main goal of political tactics such as coalition-building?
o A) To centralize authority in top leadership.
o B) To create alliances that strengthen influence over decisions.
o C)To eliminate dependency relationships within organizations.
o D) To reduce ambiguity in organizational goals.
Answer: B) To create alliances that strengthen influence over decisions.

1. "non-substitutability’” mean in organizational power?
o A) The ability to control resource allocation.
o B) The inability of other departments to replace a department's function.
o C) The reliance of departments on external resources.
o D) The use of ambiguous information for decision-making.
Answer: B) The inability of other departments to replace a department's function.
2. What is a critical factor that determines the horizontal power of departments in
organizations?
o A) The ability to influence decisions in unrelated departments.
o B) The unique and critical contributions they make to organizational success.
o C) Their position in the vertical hierarchy.
o D) Their control over decision premises.
Answer: B) The unique and critical contributions they make to organizational success.
3. Which domain of political activity involves leadership changes?
o A) Structural change
o B) Management succession
o C) Resource allocation
o D) Task interdependence
Answer: B) Management succession
4. How does dependency influence power relationships within organizations?
o A) It reduces the influence of higher-level managers.
o B)Itincreases the power of departments that control critical resources.
o () It eliminates competition between departments.
o D) It decentralizes decision-making authority.
Answer: B) It increases the power of departments that control critical resources.
5. What is one way IT departments have gained horizontal power in modern
organizations?
o A) By managing all financial resources.
o B) By playing a critical role in technology-driven operations.
o C) By aligning with sales departments.
o D) By reducing dependency on other departments.
Answer: B) By playing a critical role in technology-driven operations.

6. What is the primary role of resource allocation in vertical power?
o A) It eliminates dependency relationships within organizations.
o B) It creates dependency between lower-level participants and top managers.
o Q) It decentralizes authority to lower levels.
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o D) It prioritizes collaboration over competition.

Answer: B) It creates dependency between lower-level participants and top managers.
Which type of department was found to have the most power in a survey of
industrial firms?

o A) Research and Development (R&D)
o B)Sales

o C)Finance

o D) Information Technology (IT)

Answer: B) Sales

How can departments with less direct impact on organizational goals gain power?
o A) By aligning with top management and increasing their network centrality.
o B) By focusing solely on internal efficiency.
o C) By reducing their dependency on other departments.
o D) By eliminating ambiguity in their tasks.
Answer: A) By aligning with top management and increasing their network centrality.
What is the role of "*control of information™ in vertical power?
o A) Ensuring all employees have equal access to information.
o B) Shaping decision-making by determining how information is collected, interpreted,
and shared.

C) Decentralizing authority to lower-level employees.

D) Eliminating dependency relationships in decision-making processes.

Answer: B) Shaping decision-making by determining how information is collected,

interpreted, and shared.

Which political tactic involves assigning loyal individuals to key positions?
o A) Coalition-building
o B) Enhancing legitimacy
o C) Direct appeal
o D) Expanding networks
Answer: A) Coalition-building

What does the ""new golden rule™ highlight about power dynamics in organizations?
o A) Power depends on the ability to eliminate dependency relationships.
B) Control over financial resources is a critical source of power.
C) Organizational power is always distributed equally.
D) Resource sharing reduces conflicts among departments.
Answer: B) Control over financial resources is a critical source of power.
Why is dependency considered a source of power in organizational relationships?
o A) It reduces the need for formal authority.
o B) ltincreases the influence of those who control necessary resources.
o () It ensures equal power distribution among departments.
o D) It centralizes decision-making authority.
Answer: B) It increases the influence of those who control necessary resources.
What tactic is used to address areas of high uncertainty in organizations?
o A) Assigning loyal people to key positions
o B) Providing scarce resources
o C) Expanding networks
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o D) Coping with strategic contingencies
Answer: D) Coping with strategic contingencies
14. How does ambiguity in the political model impact information flow?
o A) It ensures equal access to data across all levels.
o B) It allows information to be used and withheld strategically.
o () It decentralizes decision-making processes.
o D) It reduces conflicts between departments.
Answer: B) It allows information to be used and withheld strategically.
15. What does ""network centrality"* provide to individuals or departments in an
organization?
o A) Access to critical information and key people
o B) Greater authority to control resource allocation
o C) The ability to reduce dependency relationships
o D) Centralized decision-making authority
Answer: A) Access to critical information and key people



